Written Exam at the Department of Economics summer 2019
Development Economics
Final Exam
31 May 2019

(3-hour closed book exam)

Answers only in English.

This exam question consists of 5 pages in total

Falling ill during the exam
If you fall ill during an examination at Peter Bangs Vej, you must:
e contact an invigilator who will show you how to register and submit a blank exam paper.

e |eave the examination.
e contact your GP and submit a medical report to the Faculty of Social Sciences no later than five
(5) days from the date of the exam.

Be careful not to cheat at exams!
You cheat at an exam, if during the exam, you:

e Make use of exam aids that are not allowed

e Communicate with or otherwise receive help from other people

e Copy other people’s texts without making use of quotation marks and source referencing, so that it
may appear to be your own text

e Use the ideas or thoughts of others without making use of source referencing, so it may appear to be
your own idea or your thoughts

e Orif you otherwise violate the rules that apply to the exam



Problem A

Please provide short answers to the following questions and statements:

1.

2.

Please give some characteristics of the world’s poor people (a global poverty profile).
Please define and explain growth accounting

Please define and explain two obstacles to international transfer of technology.

Please explain briefly how Gollin, Hansen and Wingender (2016) estimates the total impact of
the green revolution on GDP per capita

What are population “optimists’” and population “pessimists”? Provide a theoretical argument
in favor of either view.

What was “The Brady Plan”?

The Berlin conference was instrumental in the creation of modern borders around
contemporary African countries. (i) What is the problem with contemporary borders? (ii) How
might it affect long run economic growth? Please, explain.

Problem B: Inequality and Development

1.

2.

3.

Please explain how data for measurement of inequality is gathered in the developing world and
discuss possible data problems.

Please give a brief summary of the main theories explaining how income inequality affects
economic growth.,

The table below (covering 2 pages) is Table 4 from Berg, Ostry, Tsangarides and
Yakshilikov,“Redistribution, inequality, and growth: new evidence”, J Econ Growth (2018)
23:259-305.

Please relate the results in the table to the main theories given in Problem B2, and discuss the
extent to which the theories are supported or refuted by the empirical findings.
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Problem C: Physical capital

1.

How much of the observed variation in GDP per worker across the world can be attributed to
differences in physical capital? (i) Please, explain how development accounting can provide an
answer. Be as precise as you can. (ii) What is the typical ballpark answer?

In a closed economy setting, cross-country differences in capital stocks is due to savings. The
reason is that total investments equal total savings by national accounts identity. In a setting
where capital is freely mobile, this is no longer true. Hence, in a world characterized by well-
functioning international capital markets low savings is less of an obstacle for poor countries in
their quest to obtain nation-wide prosperity. Please, explain what, respectively, “The Feldstein-
Horioka puzzle” and “The Lucas Paradox” are, and how they relate to the issue of how effective
international capital markets are in allocating capital.

In a more recent contribution, Francesco Caselli and James Feyrer re-examine the efficiency of
international capital markets. Please, describe their approach and their main findings.

Consider a small open economy, Assume international capital mobility is perfect. Can foreign
aid, in the shape of a capital transfer, help increase GDP (per capita)? Please, explain why or
why not.

What domestically enacted policies may increase the domestic capital stock and thereby the
gross domestic product of a small open economy, when capital is internationally mobile?



